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QID : 201 - In the following question, select the related word pair from the given alternatives.

Options:

1) Water : Drink

EICIRRicl)

2) Wood : Trees

RSl TS

3) Ice : Freeze

t : ST

4) Flower : Rose

ENER SIS

Correct Answer: Ice : Freeze
Tt : ST

Candidate Answer: Ice : Freeze
 : ST

QID : 202 - In the following question, select the related letters from the given altenati

K

KLMN: UJKL:: TUVW:?
frfafed oy A iy g faemeat & & J&fa srert &t gfgl

KLMN: UJKL:: TUVW:?

Options:
1) RSUT

2) VWXY
3) STUV

4) RSTU
Correct Answer: RSTU
Candidate Answer: RSTU

QID : 203 - In the following question, select the related number from the given alternatives.
3:27::4:?

fafafea vy § Ry g e & @ J&fda T ot gl

3:27::4:?

Options:

1) 63

2) 64

3) 65

4) 15
Correct Answer: 64
Candidate Answer: 64

QID : 204 - In the following question, select the odd word from the given alternatives.

frafafea vy d Ry 7y et § & fww g @t 3wl


http://thepracticetest.in/cs_cglet1_17/logout.php?appid=1368062d74107fc05177712c90c3885c
http://164.100.129.99/challengesystem/sendrollno.jsp?rollno=1004015582&scode=111&key=6877a79cb9bddd078f646a4dfaf5963e

Options:
1) Ludo

2) Chess
A

3) Polo
e

4) Carrom

Correct Answer: Polo

qielt

Candidate Answer: Polo
e

QID : 205 - In the following question, select the odd letters from the given alternatives.

fafafea vy § Ry o fReedt 8 @ fovm siert & gl

Options:
1) DGJ

2) KNQ
3) RUX

4) ILN
Correct Answer: ILN
Candidate Answer: RUX

QID : 206 - In the following question, select the odd number from the given alternatives.

fafafea vy & Ry g et § @ v g & gfg)

Options:
1) 31

2)37
3)43

4) 49
Correct Answer: 49
Candidate Answer: 49

QID : 207 - Arrange the given words in th occur in the dictionary.

1. Storm
2. Strap
3. Strangle
4. Stamped
5. Satire

frfafed ereal &t areaentar # S arel oA & SIgER ford

1. Storm
2. Strap
3. Strangle
4. Stamped
5. Satire

Options:
1) 51432

2) 51342
3) 54132

4) 53412
Correct Answer: 54132
Candidate Answer: 54132



QID : 208 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BT, DR, FP,?
Ten S1eRH o T 8, oI § Ueh U g 81 ey g fenedt 7 @ a5 @l fashew gy, ST srgehA @l gu k|

BT,DR,FP,?

Options:
1) HO

2) HN

3) NH

4) OH

Correct Answer: HN

Candidate Answer: HN

QID : 209 - In the following question, select the missing number from the given series.
3,8,5,27,8,64,12,125,17,?

fafafea vy & Ry g e § @ g sies 71 Al

3,8,5,27,8,64,12,125,17,?

Options:
1) 216

2) 361
3) 625

4) 441
Correct Answer: 216
Candidate Answer: [ NOT ANSWERED ]

QID : 210 - The ratio of present ages of P and Q is 5 : 8. Three years later thei ratio 8 : 11. What is the present age (in years) of Q?

P qT Q &1 I 1Y T SIUTT 5 : 8 &1 i au TG ITeh amg 8: 11

Options:
1)5

SR (e #) e 87

2)11
3)14

4)8
Correct Answer: 8
Candidate Answer: 8

QID : 211 - Pointing to a lady, Diwakar said, "Her

e St Y TR0 hd et §U fareme 7 gl ‘IThY AT o1 GehaTs A A1 4 211 fare 39 St & R v weifda 87
Options:

1) Aunty

o

2) Sister

CEo)

3) Mother

ATdT

4) Wife

il

's only grandson is my son." How is that lady related to Diwakar?

Correct Answer: Sister
g8 && Wife

et
Candidate Answer: Wife
et



QID : 212 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.

Biological
g g w7, ffafea et § @ ag reg gAQ St Ry 7T ree & s1eRl 1 UaIT Sk 8T ST ST TehdT 81

Biological
Options:
1) Logic

2) Globe
3) Bail

4) Bill
Correct Answer: Globe
Candidate Answer: Globe

QID: 213 - In a certain code language, "who are you" is written as "432", "they is you" is written as "485" and "they are dangerous" is written as "295". How is
"dangerous" written in that code language?

o fafdre sts ame , "who are you" &t "432" forar ST €, "they is you" @t "485" foraT SiTdT & @1 "they are dangerous” @t 295" foraT SITaT &1 39 B wreT F
"dangerous" @ fohd TR forar sirgem?

Options:
1)2

2)4
3)5

4)9
Correct Answer: 9
Candidate Answer: 9

QID: 214 - If "P" denotes "multiplied by", "R" denotes "subtracted from", "S" de a0 *and "Q" denotes "divided by", then which of the following

equation is true? -
af P! a7 a1 "o B, "R" T anef "werd” §, 'S" T aref "itg" & "Q" aht ref e i et 7 @ apiT 1 Eeiteneo Tt 87
Options: 4

1)18R60Q1552=8
2)15516Q2P4 =47
3)3P5R18Q3=6

4)15528Q4P2=27
Correct Answer: 15516 Q2P 4 =47
Candidate Answer: [ NOT ANSWERED ]

QID:215-1f4*7*2=361and5*9*1=480
2*1*3=7?
aR4*7*2=361aM5%9*1=4808,

2*1*3=?
Options:

1) 312

2) 324

3) 210

4) 102

Correct Answer: 102

Candidate Answer: [ NOT ANSWERED ]



QID: 216 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

TeaoeT v # Ry 7w Oeeur # ¥ uw e
(7) & FUA G HE arell TEAT H AT

3 10 6 186
9 5 3 | 138
5 7 1 36
3 2 5 ?

Options:

1) 35

2)42

3)45

4) 95

Correct Answer: 35
Candidate Answer: [ NOT ANSWERED ]

QID:217 -
How many triangles are there in the given figure?

& o st # feet Fruger ¥

Options:
1) 10

2)11
3)12

4) 13
Correct Answer: 11
Candidate Answer: 11



QID : 218 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if
they seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:

I. All cups are vegetable.
II. All vegetable are pens.

Conclusions:

I. Some pens are vegetable.
Il. Some pens are cups.

2 g TQ U us H 58 e 8 I a1 I Yl R SeTRd o ey Ry 1y §, gTetifen S S A1 et @ faear gt aendt 81 eft fsend u@ ofik fve FefRa R f R
MY & G FAehy Y 7Y et & e R gihdd &

hYA:

1. goft oy Tfssraf &1
1. g+t wfesrat o &1

fAseptf:

I. § U= Tferat &1

Il. 3 U9 &T gl

Options:

1) Only conclusion (1) follows.

e e (1) 981 81

2) Only conclusion (I1) follows.

hadt fAset (1) &l 81

3) Both conclusion follow.

2 g1 s W B

4) Neither conclusion (I) nor conclusion (Il) follows.

7t fsenef (1) 7 &t frsed (1) @&l 81

Correct Answer: Both conclusion follow.

T & e =& 2

Candidate Answer: Both conclusion follow.

&It &t el et &1

QID: 219 -

Three positions of a cube
will come opposite to face

&= oE o & 99

Options:
1) 6

2)1
3)3

4)2
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID: 220 -

2



Options:
1) 53

2)61
3) 42

4) 45
Correct Answer: 42
Candidate Answer: 42

QID: 221 -

&2

Options:
1)

&2

2)

3)

2

4)

Correct Answer:
A

Candidate Answer:

&2

QID:222-
From the given answer fi
which the question figure i

& % 3R Al &
fora & uy wpfa BRa &




Options:
1)

&2

2)

P

3)

4)

P

Correct Answer:
=

Candidate Answer:

2

QID: 223 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when

opened? O

o F Uy Fead # REmw 3gER Fee & O
AEHT Vel JUT Treld & a1 a8 fohw 3R HTpla

st g game

=R

Options:




Correct Answer:

—

—

Candidate Answer:

—

—

QID: 224 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IfE UF ZUUT @ AB T WX @ oW, & & a8
3O7 HTHfaar # ¥ FiF O dFa oy e f
e ufafess gefr?

5]

Options:
1)

B

Correct Answer:

v
AAlyg




Candidate Answer:

v
AA |y

QID: 225 -

2

Options:
1) 10, 12, 11, 66, 58

2) 43,31, 33,89,86
3) 21, 40, 44, 56, 99

4) 32,03, 20, 97, 66
Correct Answer: 10, 12, 11, 66, 58
Candidate Answer: 10, 12, 11, 66, 58

QID : 226 - Which one of the following is not an instrument of credit control in India?

fFafofea & g o 91 wRa & For1 01 @1 U UaR T8 8?7
Options:

1) Rationing of credit

FUT <hl IR

2) Direct Action

Tieft sprfargt

3) Open Market operations
el AR & FHRfeReTd
4) Variable cost reserve ratios

IRETHE AT SRfE FAfer srgure

Correct Answer: Variable cost reserve ratios
Rada arTa smféya fAfer srgara
Candidate Answer: [ NOT ANSWERED ]

QID : 227 - Which among the following is an example of micro-econo

frfaf@a & @ o a1 gen snffe =R @1 gan Jarexor 82 \

Options:

1) National Income
g s

2) Aggregate Supply
Genet SATYfet

3) Employment
AR

4) Consumer's Equilibrium

IgIhHT Hger

Correct Answer: Consumer's Equilibrium
IgIhT Hger

Candidate Answer: [ NOT ANSWERED ]

QID : 228 - Fundamental duties are mentioned in which of the following part of Indian Constitution?

IR dfder & frg =fafd swmr & wiferen adet o1 Seera 82
Options:

1) Part Il

Rl

2) Part Il

v 1

3) Part V

RV

4) Part IV A
YNTIV A

Correct Answer: Part IV A
HATIV A

Candidate Answer: Part IV A
HNTIV A



QID : 229 - What is the minimum age for becoming a Governor of state in India?

TR § I T AT T & g =gAas 31y fearit &7

Options:
1) 30 years
30 aef

2) 25 years
25 gy

3) 35 years
35 aef

4) 45 years
45 g5

Correct Answer: 35 years

353

Candidate Answer: 35 years

35af

QID : 230 - Who amongst the following was the successor of Sikh Guru Har Krishan?

frafafea § @ e fRee TF & fhem & STfdert 97

Options:

1) Guru Angad Dev
& 371g &g

2) Guru Tegh Bahadur
HSSEHEEIR

3) Guru Hargobind
T g

4) Guru Amar Das

TE 3R &

Correct Answer: Guru Tegh Bahadur
T AT FEIR

Candidate Answer: [ NOT ANSWERED ]

Options:
1) permanent revenue settlement of Bengal
STTeT T Tt T R

2) attacking the caste system
ST STael IR UgR

3) land revenue settlement of United States
T IS Gl -5 FaeT

4) ryotwari settlement of Madras

g Y ATt sreRen

Correct Answer: permanent revenue settle
STt <ht Wit o g

Candidate Answer: permanent revenue settlemel
STt <ht TRt o SaRan

QID : 232 - 49th Parallel is the boundary line between which two countries?

49 o gEFTR Rar o &t 230 & T i dar @ §?

Options:
1) USA and Canada
TGh AT AAREAT TUT FHATST

2) North and South Vietnam
I T gferoft fmamm

3) Germany and France
Srofft e e

4) Brazil and Chile
STSfiet e fReft

Correct Answer: USA and Canada

TG T AT TUT FHATST
Candidate Answer: [ NOT ANSWERED ]

QID : 233 - How does La-Nina affect the Pacific Ocean?

1 4T URrid TR WR R TR & 9T STerd! 872



Options:
1) Decreases salinity of ocean
AEMNR Sl @RIUA HH &R &dT §

2) Cools downs the temperature of water
STel ST ATOHT & o &aT &

3) Maintains stable temperature of water

STeT & dTIHT ot fROR &R 3T &

4) Increases salinity of ocean

TEMINR &l RIUH 6T 3d1 &

Correct Answer: Cools downs the temperature of water
STl ST dATIHT A R T &

Candidate Answer: [ NOT ANSWERED ]

QID : 234 - Cinnamon is obtained from which part of the plant?

e & forg 9rT & grerhit v foRar Sirar 82

Options:
1) Stem
Gl

2) Bark
Bl

3) Roots
S

4) Fruits
el
Correct Answer: Bark
Bl

Candidate Answer: Bark
Blel

Options:
1) hormone

2) protein
i

3) enzyme
TSITIgH

4) vitamin

EriEE

Correct Answer: hormone

Candidate Answer: enzyme
TSIsH

QID : 236 - Which among the following carries i

frafafea d @ o AT geg aa Ix[g T Ugarar 8?

Options:

1) Aorta

TETYHEAY

2) Pulmonary vein
ththe T T

3) Pulmonary grteries

4) Vena Cava

TETfRT

Correct Answer: Pulmonary arteries

Thhe i et

Candidate Answer: Pulmonary vein

TS &t T

QID : 237 - Why does water tank appear shallower when viewed from the top?

FWR Y @A R U T Teh IUAT R fams 3 82



Options:
1) Dpe to reflection

ufafdd & sror

2) Due to refraction

3T & BRI

3) Due to diffraction
faad= & RO

4) Due to total internal reflection
Pl SriaRes ufdfde & swror

Correct Answer: Due to refraction

39ec & HROT

Candidate Answer: Due to refraction

3(9ec & HROT

QID : 238 - Which colour is formed when Red and Green are mixed?

ATt AT 82 41 & fAsyor @ i 1 F1 U grar 872

Options:

1) Light blue
BT el

2) Yellow
e

3) White
&

4) Grey
A

Correct Answer: Yellow

i
Candidate Answer: [ NOT ANSWERED ]

QID : 239 - What is the full form of JPEG?

JPEG a1 Srefaie &u a1 87

Options:

1) Joint Photographic Experts Group
Sqige hieHTithes YU qU

2) Joint Protocol Experts Graphics.
afge ither

3) Joint Programming Experts Graphics
qige i

4) Joint Project Experts Group

Sige vIeide QaRTued I ]
Correct Answer: Joint Photographic Experts
Sqige hieHTithes JaaUeH qU 3

Candidate Answer: Joint Programming Exp
Saige uhnfET

QID : 240 - What is an endothermic reaction?

Tk FeATeitt ufafdan e gt 82

Options:
1) Reaction in which heat is released.

o ST famifa gt 81

2) Reaction in which heat is absorbed.

ufaferar orad For sraifda gidt &1

3) Reaction in which neither heat is released nor absorbed.

ufaferar fo 7 &t o famifRa gkt @ ok 7 & sranfya gidt &1
4) None of these

ECREIEE ]

Correct Answer: Reaction in which heat is absorbed.

ufaferar ST o7 sranfyd gidt &1
Candidate Answer: [ NOT ANSWERED ]

QID : 241 - Which of the following is an ore of Aluminium?

fr=fafea & @ e sregHifam o s 87



Options:
1) Galena
T T FTYROT et HEm

2) Cryollite
ShrateTse

3) Cinnabar
IREIEIN

4) Epsom Salt
T T9H
Correct Answer: Cryollite

EADICIE

Candidate Answer: Galena
AT T FIYROT shedT Hr

QID : 242 - Which of the following gas was released during Bhopal gas tragedy?

frefafea & @ forg A9 o Rema wiure i Jre & e gor or?

Options:

1) Methyl isocyanate
ERIEC]

2) Sodium isothiocyanate

3) Nitrogen isothiocyanate

4) Potassium isothiocyanate

e

Correct Answer: Methyl isocyanate
fRrmger

Candidate Answer: Methyl isocyanate
[GRIEC)

QID : 243 - What is the name of the scheme for the Employees State Insurance Cerpor eficiaries launched in Delhi region?

AR TSy ST T & Arff & forg Rt & 7 [ &t TS Al @t &R A 87
Options:

1) Sakushal Humesha
T gHLM

2) Kahin bhi kabhi bhi
g oft poft oft

3) Jeevan Arogya
St IR

4) Shramik Kalyan
Ak ShearoT

Correct Answer: Kahin bhi kabhi bhi
gl oft aoft oft

Candidate Answer: [ NOT ANSWERED ]



QID: 244 -
Match the following.

Teaela o Fena fifem)

Scientist / d=1fa® Discovery / @i
1. Joseph Thomson a. Optical Fiber
FAHE ATHATA Hiftaehel HIEeR
(ThTIRI HTEer)
2. Alexander Fleming b. Radium
HOFET TRIfT EyETIE
3. Narinder Kapany c. Electron
afex @l ESETAG]
4. Marie Curie d. Penicillin
P Fh A

Options:
1) 1-c, 2-d, 3-a,4-b

2) 1-a, 2-d, 3-¢, 4-b
3) 1-c, 2-a, 3-d, 4-b

4) 1-a, 2-d, 3-b, 4-c
Correct Answer: 1-c, 2-d, 3-a3, 4-b
Candidate Answer: 1-c, 2-d, 3-a, 4-b

QID : 245 - Term ' Gambit ' is associated with which of the following sp

ez Hifge Feffaa 7 @ fhg @« 3 9@4fa &2

Options: \
1) Basketball \
Srheatet

2) Chess
AT
3) Boxing

4) Golf'
ek

Correct Answer: Chess
TS

Candidate Answer: Chess
A

QID : 246 - Madhuri Dixit is associated with which Indian Dance form?

a1 Eifda g YRdrT JeaeRen € Taifdg &7
Options:

1) Bharatnatyam

TRAATESH

2) Kuchipudi

3) Kathak
hYch

4) Kathakali
HYUTHA!

Correct Answer: Kathak
hYUh

Candidate Answer: [ NOT ANSWERED ]



QID : 247 - Who among the following is a Sanjay Chopra Award recipient for 2016?

frafafea § @ @ 2016 & G0 TUST JREHR UTehd! 82

Options:
1) Abhinash Mishra
siferer e

2) Arjun Singh
B

3) Aromal SM
SR T gH

4) Srawanand Saha

Hafa= argr

Correct Answer: Arjun Singh
3r5f g

Candidate Answer: [ NOT ANSWERED ]

QID : 248 - 'My Story' is an autobiography of which famous cricketer?

'1g TR o vl fohehe Rt &t Sttaht 87

Options:

1) Kumar Sangakara
HHAR HITRRT

2) Kevin Peterson

g ez

3) Brendon Mccullum

4) Michael Clarke
AT FeTch

Correct Answer: Michael Clarke
TTghel FelTeh

Candidate Answer: [ NOT ANSWERED ]

QID : 249 - Which country has approved more than 500 new settler homes in

forg 3 gl varem A 500 & 1fde SaTEER B i srghfd & 82

Options:

1) USA

Tg<h T AR

2) UAE

Tg<h T SR

3) Israel

ERINE]

4) United Kingdom
[Ec)

Correct Answer: Israel
ESING)

Candidate Answer: [ NOT ANSWERED ]

QID : 250 - Which of the following country is not a ber of SAARC?

frfoiaa & @ o a1 27 a1eh &1 9o el 8?7

Options:
1) Nepal
AuTed

2) Maldives
AEE

3) China
=

4) Afghanistan
SRR

Correct Answer: China

Eik]

Candidate Answer: Afghanistan

SRR

QID : 251 - By which least number should 5000 be divided so that it becomes a perfect square?

5000 @t for B & BIET T & fenfSia fmam st S a8 ges o af & w2



Options:

1)2

2)5

3) 10

4) 25

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 252 - A can do a work in 8 days, B can do the same work in 10 days and C can do the same work in 12 days. If all three of them do the same work together
and they are paid Rs 7400, then what is the share (in Rs) of B?

AT o &t 8 oA & R Tohart §, B St rf Y 10 3 & o Tepar & a1 C S v ot 12 R & R Toparr &1 Al & it 39 o ot Iy & feteR v & aur 38 7400 . fRw s
g, Y B o1 fie@an (3. #) foramm ghm?

Options:

1) 2600

2) 3000

3) 2400

4) 2000

Correct Answer: 2400

Candidate Answer: 2400

QID : 253 - If the radius of the cylinder is increased by 25%, then by how much percent the height must be reduced, so that the volume of the cylinder remains
same?

& S <t B # 25% &l g i It 8, df Iuch! HaTs | fha Hfaerd i et Sl STt a1fey 1fch st et Smaa= ?
Options: 3 »
1)36 -
2) 56

3) 64

4) 46

Correct Answer: 36
Candidate Answer: 36

L0THRNG

QID : 254 - The marked price of an article is 20% more than its cost price. If 5% nt is given on the marked price, then what is the profit percentage?

Teh A% o Sifhd Jea I8 5a e § 20% 31fda §1 afS avg & sifehd 7ea R 5% &l ST e Rea 27
Options:

1)5

2)14

3) 15

4) 25

Correct Answer: 14
Candidate Answer: 14

QID:255-1fA:B=2:5B:C=4:3andC:D=2: eof A:C:D?

gk A:B=2:5B:C=4:3quC:D=2:4aA:C:D &l e ghm?
Options:

1)6:5:2

2)7:20:10

3)8:30:15

4)16:30:15

Correct Answer: 16: 30: 15

Candidate Answer: [ NOT ANSWERED ]

QID : 256 - The average runs conceded by a bowler in 5 matches is 45 and 15.75 in other 4 matches. What is the average runs conceded by the bowler in 9
matches?

ek Tieast gRT 5 &<t & o8 7 ofigq 37 45 & aur o= 4 A= & 15.75 &1 9 &= § fiearst & gRT oy ¢ 3fgd 7 foham 82

Options:

1) 15

2)32

3) 35

4)53.5

Correct Answer: 32

Candidate Answer: 32

QID : 257 - A person bought pens at 25 for a rupee and sold at 15 for a rupee. What is his profit percentage?

U afth 1% 8 25 e WAeaTg aum 13, § 15 sherdl sadr &1 I9ahT e ufaerd favamn &2



Options:

1)
162
3

2)

33 1
3
3)

662
3

4) 40
Correct Answer:

662

3
Candidate Answer:

662
3

QID : 258 - 80 litre mixture of milk and water contains 10% milk. How much milk (in litres) must be addedg¢o make water percentage in the mixture as 80%?

o a1 Tl & 80 wftex fsror & 10% gy &1 st & urht & ufaera s 80% s-m & forg foham gy (sftex #) e v
Options:

1)8

2)9

3) 10

4)12

Correct Answer: 10
Candidate Answer: 10

QID : 259 - A bus starts running with the initial speed of 21 km/hr and its sp ncl very hour by 3 km/hr. How many hours will it take to cover a
distance of 252 km?

ueh 59 21 fh.fh. ufd et i urfdes 1fa & g sy ) & aur fa 18Vch. =Y. ufa der Y gfg gt 81 252 .+t &t ot a1 vt & forg a8 fpam &2 vt T
wfi?

Options:

1)3

2)5

3)8

4) 10

Correct Answer: 8

Candidate Answer: [ NOT ANSWERED ]

QID : 260 - A sum of Rs 400 becomes Rs 448 at terest in 2 years. In how many years will the sum of Rs 550 amounts to Rs 682 at the same rate?

400 %. I T AfA g guf & FreRoT TSt Y X T 448 3. B 81 9 &R Y fohat autf § 550 . Hr ufy 682 3. gt srw?

Options:
1)2

2)3
3)3.5
4)4

Correct Answer: 4
Candidate Answer: 4

QID: 261 -

2

Options:
1) 1/x

2)x2-1
3)x+1

4) x
Correct Answer: 1/x



Candidate Answer: 1/x

QID: 262 -

1
e

X2 o

If x+1 =17, then what is the value of —2 7
X i =B

bt

1 2
g x+— =17, a8 —— %X & AT FI7 &7
X x> —3x+1 %

Options:
1) 2431/7

2)3375/7
3)3375/14

4) 3985/9
Correct Answer: 2431/7
Candidate Answer: [ NOT ANSWERED ]

QID: 263 -
What is the value of x in the equation
’“_X 3 /L _1,
X 1+x .6~ O
HHRIOT ‘i1+—X— fizi # xa@
X 1+x  .J6
AT FT &2
Options:
1)-2
2)3
3)2
4) None of these
= A i T

Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID: 264 -

|f2[x2+%]—2[x—ﬂ—s

two values of x—%?

en what are the

afg 2[x2+%}—2{x—%}—8=0,r-ﬁ x—%?ﬁ ar

AT T &7

Options:
1)-1o0r2
-1312
2)1or-2
13ar-2
3)-1or-2
-131-2
4)1or2
13ar2



Correct Answer: -1 or 2
-13a12

Candidate Answer: [ NOT ANSWERED ]

QID : 265 - In AABC, ~BAC = 90° and AD is drawn perpendicular to BC. If BD = 7 cm and CD = 28 cm, then what is the length (in cm) of AD?

AABC ¥, 2BAC = 90° a1 AD, BC WR o T a7 &1 afe BD = 7 @4t aur CD = 28 ¥.41. &, af AD &Y s (2.1, 8) fonat 82

Options:

1) 3.5

2)7

3)10.5

4) 14

Correct Answer: 14
Candidate Answer: 14

QID : 266 - A chord of length 60 cm is at a distance of 16 cm from the centre of a circle. What is the radius (in cm) of the circle?

60 .7, Tl ger Sftar geh g & ha & 16 .1 H QR &1 g9 i B (@A A7) w®g?
Options:

1) 17

2) 34

3)51

4) 68
Correct Answer: 34
Candidate Answer: 34

QID: 267 -
In the given figure, a smaller circle touches a larger
circle at P and passes through its centre O. PR is a
chord of length 34 cm, then what is the length (in cm
of PS?

& 78 iy #, v o @@ U 9 gEa
W T T T@ & TUT STh
¥ PR mF Shar & oy
& FFarg (@3, FA) Fr

R
O
S
P

Options:

1)9

2)17

3)21

4) 25

Correct Answer: 17
Candidate Answer: [ NOT ANSWERED ]



QID: 268 -
In the given figure, ABC is a triangle in which, AB =10
cm, AC = 6 cm and altitude AE = 4 cm. If AD is the
diameter of the circum-circle, then what is the length
(in cm) of circum-radius?

& g wpfa #, ABC e = & Towat AB = 10
A, AC = 6 A gur fdeew AE = 4 A B
Ifg AD AT gF &1 =4 &, dr e e fr awers
(@.#. A) Fm e

Options:
1)3

2)7.5
3)12

4) 15
Correct Answer: 7.5
Candidate Answer: [ NOT ANSWERED ]

QID : 269 - What is the simplified value of

cosec® A - cot® A - 3 cosec? A cot? A @l

Options:
1) -2

2)-1
3)0

4)1
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID: 270 -

What is the simplified value of [2¢A—15
sec A+1

SeC A o wvehga a mw ¥

sec A+1



Options:
1) cosec A - cot A

2)sec A -tan A
3)sec2A

4) sec A cosec A
Correct Answer: cosec A - cot A
Candidate Answer: cosec A - cot A

QID: 271 - If tan A = 1/2 and tan B = 1/3, then what is the value of tan (2A + B)?

afé tan A = 1/2 duT tan B = 1/3, @) tan (2A + B) &1 | o1 ghmT?

Options:
1)1
2)3
3)5
4)9

Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID:272-
The pie chart given below shows the percentage of
time taken by differentprocessesin making a car.

e o v g9 R A ™ &R sA @& REe
IiHTTHT H R I AT & Wiaed & T T
gl

Glass / 2fram

(1]
Seats / &Y &%

6%

If total time taken to make a car is 300 hours, then what is the total time (in hours) taken in paint and frame?

I R T # T A ot T 300 F0E 8, df 31 a7 & & g St b1 g (aroet #) ferar ma gim?

Options:

1) 99

2)72

3) 105

4) 66

Correct Answer: 105
Candidate Answer: 105



QID:273 -
The pie chart given below shows the percentage of
time taken by differentprocessesin making a car.

e o v g9 R A ™ &R sA @& REe
IiHTTHT H R I AT & Wiaed & T T
gl

Glass / 2fr2m
8%
Seats / &Y i
6%
Engine / &7
Tyres /9fgd 40%
1%
Frame /=T
22% Paint / 33T
13%
If time taken in seats is 192 hours, then what is the time taken (in hours) in glass? O
g nifeat # foram man ot ww 192 902 §, 4t <t # fhaen T (g /) forr mam ghm?
Options:
1) 256
2) 352
3)416
4) 278

Correct Answer: 256 //
Candidate Answer: 256 \




QID: 274 -

The pie chart given below shows the percentage of
time taken by differentprocessesin making a car.

e o v g9 R A ™ &R sA @& REe
IRFTTHT H R g AT & Wiaed & T T

gl

Glass / 2fram

(1]
Seats / &Y i

6%

Tyres /9fgd
1%

Frame / Zr=IT
22%

Paint / TT

13%

Engine / &7

40%

If total time taken in engine and tyres is 127.5 hours, then what is the difference (in hours) in t

I g1 qor ufgat & forn man ot gHa 127.5 5o &, at shust: e qun «fie § fog 1y w5

Options:

1) 27.5

2)12.5

3) 40

4) 35

Correct Answer: 35

Candidate Answer: [ NOT ANSWERED ]

G




QID: 275 -
The pie chart given below shows the percentage of
time taken by differentprocessesin making a car.

e o v g9 R A ™ &R sA @& REe
IRFTTHT H R g AT & Wiaed & T T
gl

Glass / 2fram

(1]
Seats / &Y i

6%

Engine / &7
Tyres /9fgdr 40%
1%

Frame /=T
22% Paint / ToT
13%

15% of total time is spent on quality check and this time is equally taken from all other procesSes. So What will be the new sectorial angle (in degrees) made by
total time of seats and glass?

2SS

NS

Tl THI T 15% T TOTET URIET0T § TRIRIT ST & T I8 T8 aireht gt nfehanst & K 'w%nm% e e 2fiet & ot T ol AT gaavs hior (R A) fRaem

grm?

Options:

1) 28.6

2)324

3)35.8

4)31.6

Correct Answer: 32.4

Candidate Answer: [ NOT ANSWERED ]

QID : 276 - In the following question, some part of
option. If a sentence is free from error, select ‘No Erro

ave errors. Find out which part of the sentence has an error and select the appropriate

Little knowledge of playing volleyball (1)/ that she possessed proved to be (2)/helpful at the time of inaugural match. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 1

Candidate Answer: 1

QID : 277 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

I had not completed my English homework (1)/ so | thought | was done with when the (2)/ teacher asked me to hand it in. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 3

QID : 278 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Keith has with a failure in English examination thrice.



Options:

1) caught

2) gone

3) got

4) met

Correct Answer: met

Candidate Answer: met

QID : 279 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The manager was
Options:

1) called for

2) called off

3) called to

4) called up

Correct Answer: called for

an explanation of his conduct.

Candidate Answer: called for

QID : 280 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Eloquent

Options:

1) Fluent

2) Ignorant

3) Rude

4) Significant

Correct Answer: Fluent
Candidate Answer: Fluent

Nefarious

Options:

1) Iniquitous

2) Purposeful

3) Suspicious

4) Virtuous

Correct Answer: Iniquitous

Candidate Answer: [ NOT ANSWERED ]

QID : 282 - In the following question, out of th select the word opposite in meaning to the word given.

Ensconce

Options:

1) Establish

2) Impudence

3) Request

4) Unveil

Correct Answer: Unveil

Candidate Answer: [ NOT ANSWERED ]

QID : 283 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Lugubrious

Options:

1) Clumsy

2) Lucid

3) Optimistic

4) Sinister

Correct Answer: Optimistic

Candidate Answer: [ NOT ANSWERED ]

QID : 284 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Ended in a fiasco

Options:

1) A complete failure

2) A successful event

3) Changed one completely
4) Twisted around



Correct Answer: A complete failure
Candidate Answer: A complete failure

QID : 285 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Sow wild oats

Options:

1) To make someone fool

2) To make space to red

3) To take revenge

4) To waste time by doing foolish things

Correct Answer: To waste time by doing foolish things

Candidate Answer: To waste time by doing foolish things

QID : 286 - Improve the bracketed part of the sentence.

He has painted that picture so often that he can do it with his (eyes closed).
Options:

1) arms full

2) eyes opened

3) mind blank

4) No improvement

Correct Answer: No improvement
Candidate Answer: No improvement

QID : 287 - Improve the bracketed part of the sentence.

If you talk to her nicely, she will probably (allow you) her notes.
Options:

1) allow that you have

2) let you have

3) let you to have

4) No improvement

Correct Answer: let you have
Candidate Answer: let you have

QID : 288 - In the following question, out of the four alternatives, select the hich is the best substitute of the phrase.

Easily duped or fooled
Options:

1) Bigot

2) Gullible

3) Ridicule

4) Venerable

Correct Answer: Gullible

Candidate Answer: Gullible

QID : 289 - In the following question, out of the four altelrnatives, select the alternative which is the best substitute of the phrase.

Atonement for one's sins
Options:

1) Elite

2) Ignoramus

3) Incendiary

4) Repentance

Correct Answer: Repentance

Candidate Answer: Repentance

QID : 290 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Usable

2) Defense

3) Inventor

4) Annaul

Correct Answer: Annaul
Candidate Answer: Annaul

QID : 291 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.



Options:

1) Changeable

2) Inedible

3) Tracable

4) Valuable

Correct Answer: Tracable

Candidate Answer: Tracable

QID : 292 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P- It would be better to speak of uniformities of nature.

Q- Law of nature are not commands but statements of facts.

R- This would do away with elementary fallacy that a law implies a law given.
S- The use of the word law in this context is rather unfortunate.
Options:

1) QSRP

2) SQRP

3) QSPR

4) SQPR

Correct Answer: QSPR

Candidate Answer: QSPR

QID : 293 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph. {

P- When the game of life is finally over there is no second chance to correct our errors.

S- It has taken away the best and the worst of us without regard of either.

Options:

1) QSRP

2) RSQP

3) PQRS 47N, Ny
4) RSPQ ( )
Correct Answer: QSRP y

Candidate Answer: PQRS

Q- Time is the greater equalizer of all mankind. et 2\
R- Time offers opportunity but demands a sense of regard. )
ol 'M\\\ w

_
w

QID : 294 - In the following question, a sentence has been given in Acti ce. Out of the four alternatives suggested, select the one which best

expresses the same sentence in Passive/Active voice.

He saw him conducting the seminar on personalit
Options:
1) He was seen by me to conduct the seminar
2) He was seen conducting the seminar on perso
3) He saw the seminar on personality development
4) He saw the seminar on personality development to
Correct Answer: He saw the seminar on personality devel

Candidate Answer: He saw the seminar on personality development being conducted by him.

ent being conducted by him.

QID : 295 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

Rashmi said to me, "Where is the telephone exchange"?

Options:

1) Rashmi asked me that where the telephone exchange was.

2) Rashmi asked me where the telephone exchange was.

3) Rashmi asked me where was the telephone exchange.

4) Rashmi wanted to know where the telephone exchange was.
Correct Answer: Rashmi asked me where the telephone exchange was.

Candidate Answer: Rashmi asked me where the telephone exchange was.

QID : 296 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Corruptionisa _____ which has been spread in the mind of wrong people of the society, community and . It is the mistreatment of public resources just for
getting some _____ advantage to fulfil little wish. It is concerned with the unnecessary and wrong use of both power and by anyone whether the
government or non government organisation. It affects the growth and development of the nation in all aspects like socially, and politically.

Corruptionis a which has been spread in the mind of wrong people



Options:
1) havoc
2) poison
3) pollutant
4) grassroot

Correct Answer: poison
Candidate Answer: pollutant

QID : 297 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

. It is the mistreatment of public resources just for
by anyone whether the
and politically.

Corruptionisa _____ which has been spread in the mind of wrong people of the society, community and
getting some _____ advantage to fulfil little wish. It is concerned with the unnecessary and wrong use of both power and
government or non government organisation. It affects the growth and development of the nation in all aspects like socially,

of the society, community and . It is the mistreatment

Options:

1) country

2) world

3) universe

4) company

Correct Answer: country
Candidate Answer: world

QID : 298 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option. X
is'the mistreatment of public resources just for
rand _____ by anyone whether the

and politically.

Corruptionisa_____ which has been spread in the mind of wrong people of the society, community and«##%
getting some _____ advantage to fulfil little wish. It is concerned with the unnecessary and wrong use gf both ;;

government or non government organisation. It affects the growth and development of the nation in all aspects like socially,

1) fruitful g
2) wishful (
3) favourite

4) unfair

Correct Answer: unfair

Candidate Answer: wishful

= S
public resources just for getting some _____ advantage to fulfil little wish. )
Options: ;

N

QID : 299 - In the following questions, the sentence given with in with an appropriate word. Select the correct alternative out of the four and

indicate it by selecting the appropriate option.

. It is the mistreatment of public resources just for
by anyone whether the
and politically.

people of the society, community and _____
_____ the unnecessary and wrong use of both power and
government or non government organisation. It affé development of the nation in all aspects like socially,

wrong use of both power and
Options:

1) position

2) growth

3) status

4) symbol

Correct Answer: position
Candidate Answer: position

QID : 300 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

. It is the mistreatment of public resources just for
by anyone whether the
and politically.

Corruptionisa _____ which has been spread in the mind of wrong people of the society, community and
getting some _____ advantage to fulfil little wish. It is concerned with the unnecessary and wrong use of both power and
government or non government organisation. It affects the growth and development of the nation in all aspects like socially,

nation in all aspects like socially,
Options:

1) emotionally

2) scientifically

3) manually

4) economically

and politically.

Correct Answer: economically
Candidate Answer: economically






